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SECTION - A $
i) General Awareness
1. Insulin controls 8. Among the following (other than
(A) lodine level in the thyroid gland :2;‘::”;{;:?;:‘5‘ :x';ﬁ‘,': e
(B) Level of sugar in the blood (A) Galileo
{C) Level of urea in the blood (B) Copemicus
(D}  Amount of iron in the blood (C) Newton
2, Among the following, (other than (D) Einstein
A el 7. The Election Commissioner of India
(&) Aluminium is appointed by
(B) Copper (A) The Prime Minister
(C) Silver (B) The Prasident
(D) lron (C) The Chief Justice
3. Aninerited factor that is responsible (1) | Tre Altomey Qiareral
:i{g:n:::;lc::b::.:l:{;wadaﬁﬂhﬂ of an 8. Martyr's day is observed on
(A) 2" October
(A) Meuron B) 27" Maret
‘E’ g”am (©) 30" January
W} Geoa (D) 14 November
(D) Chromatid
9. Annual Budget (Finrance Bill) is
4, Which is called pink city of India 7 placed before Parliament by
(A) Agra (A) The Prime Minister
(B} Delhi (B) The Chairman,
(C) Calcutta Planning Commission
(D) Jaipur (C) The President
0y The F Ministe
5. A study of relations betwsen organiams (L) i i
and their envirenment is called 10. Oxygen was discovered by
(&) Botany (A)  Rutherford
(B) Ecology (B) Willium Ramsay
(C) Geography (C} Lavoisier
(D) Topography (D) Nail Bohr
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1. Sfer P 6. W 0@ e (sl w0 e
(A) st § s e w1 i et e o e
(B) e o wE () Al
(C) T A Ih & & (B) =
(D) 1% =i = A (€) =g
2. B QR Bre) e s e B o
TV YRS ET 7. WA % A s o Faw a2
(A) iy (A} WA
(B) I (B) Al
(C) =i (C) e
(D) et (D) eI
3. U I g A & S R T .
5 o e 2, 5 v 7 . mfgﬁqm% |
(A) :ﬂfﬂﬂﬁ (8 E'.”Tﬁ
B) e (©) 30sEh
(C) (D) 147
(D) wifes
g. =i wa (T o) o & aest o
4. T =1 R e R e M R S
(A) =ATTI (A) 79 ]
i sl (B) SGue, ara) SR
(C) FrerEdl (©) T |
©) S () o |
5. Wi s s Wi EEI Fawra | o TR = afarerm 2a B |
il (A) wEHTE |
A) TR (B) Ffemm mm
(B) it e ;
(C} wETeE
(2 Ay (D) e
I (D) weeTrgf
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11. Which of the foliowing dynaslies did
not rule Vijayanagar 7

(A} Salua
(B) Tuluva
(C) Hoysala
{0} Aravida

12, The only non-politician sclentist who
adorned the highest post of the
President of India is

{4} Dr. Babu Rajendra Prasad
(B) Dr. AP.J. Abdul Kalam
(C) Dr. V.M. Gir

(D} Neelam Sanjeeva Reddy

13. Nobel Prize for Economics was
awaﬂﬁdtﬂ

(A) Dr. Amartya Sen

(B} Dr. Manmohan Singh
(C) Dr. Nanjundappa

(D) Dr. Bhagawathi

14. Who wrote 'Gita Govinda' 7
(A) Purandaradasa
(B) Tulsiram
(C) Tukaram
(0} Jayadeva

15. The brightest object in the evening sky is
(A) Cirrius
(B) Salum
(C) Venus
(D) Polestar

16.

17.

18.

19.

20.

TR0 0O WO LR NG

Alamatti Dam is built across the river
(A} Krishna

(B) Cauvery

({C) Godavari

(D} Kapila

The Second Batile of Panipal was
fought in

(A) 1585 AD

(B) 1556 AD

(C) 1562 AD

(D) 1576 AD

Supreme Gourt in April 2014 lformed

“Mukul Mudgal Committea™ for which

of the following purposas 7

(A) Recognition of ransgenders

(B} Road salely laws

(C) IPL spot fixing

(D) Monitoring ads of parties in ganeral
election

A passenger train set a new speed
record of running at 160 Km/hr
{100 miles an hour) during a trial run
betwean onJuly 3, 2014.

(A} MNew Delhi and Agra
(B} Mumbal - Thane
(C) Kolkata — Howrah
(D) Maone of these

Who clinched the 2014 French Open
Men's singles fitle ¥

(A) MNowvak Djokovic
(B) Rafael Nadal
(C) Roger Fedarer
(D) MNone of these
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(e iR e
(A) e
(B) TR
(C) wrEen
(D) awiE=

12. 3 S-trah dwie Tl afie=

o, S Al o o way A
(A} =, & el e

(B) = vt S, s wem

(c) =idh . frfi

(D) e vl

13,  STHTITE o ATelel YT S faEn

(A) =7, g B39
(B) =i uawie fie
{C) =i =
(D) =1 wEl

14, ‘fdamiEe Fraamsram e ?
(A} HETEH

(B) Tem

(C) THH
(D) w=eE

15, ST GNg HEE H a0 fave

B2

(a) Tatm
(B) ¥R
C) =
(D) WIEER

16.

17

18,

18

20.
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arerrE| = 30 44w ot
(A) FEm
(B)

(c) e
(D) Figen

qri ot gad wed T o wE

(A) Z.H. 1565

(B) 3.H. 1558

(C) 3.1, 1582

(D) 3.\ 1576

fra 1 @ fem s @ othe 2014 1

T AT A e g aiata

g o 7

(A} T R T

(B) T HEEH1 FHam

(C) =i waiz fefm

(D) T § il = SfiaeT W
L]

39, 2014 F Tt v wand) 20 4 v
oo =T | % g
160 .t /9= (100 = wfa g=)
e wife = w frewrd s R
(&) 7% Faeeht sl s

(B) Hed-um

(C) FierFA-EESl

(D) T & =g el

2014 T 119 759 Uhe flgam e
wifte e 7

(A} T T
(B) T TTETH
(C) Tia Uraw

(D) &7 | =hrd =l
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21,

22,

24,

Ax

ii) General Intelligence and Reasoning Ability
25,

Which one of the given responses
would be a meaningful ordar of the
following 7

1. Sentence

2. Word

3. Chapter

4. Phrase

5. Paragraph
(A) 4,3,1,2,5
(B, 2.3, 58,41
(C) 3,5.1.4,2
D) 1,3,2,4,5

It in a code language PARENT is
written as BOFGJK and CHILOREN
is written as MOXQUFG, how is
REPRINT written in thal code ?

(A) FGBFXGD
(B) BGBFXJK
(C) FGBUXJK
(D) FGBFXJK

Vijay introduces Vikas as the son of
the only brother of his father's wife.
How is Vijay relatad to Vikas ?

(A) Cousin
(B) Brother
({C) Son
(D} Uncle

in a row of trees, a trea is 8 from the
left end and 13" from the right end.
How many trees arae there in the row ?
(A) 19 (B) 20
(C) 18 oy 21

.

28.

Select the missing number from the
given responses ; *
81,100, 121, 144,168, .. ?..,225

{(A) 300 (B) 325

(C) 350 (D) 1986

Jalaja travels a distance ol B km o
the West, from there 4 km 1o the South,
from there 10 km to the East. In what
direction is she now from the starting

paint 7

(A) South-East
(B} MNorh-East

(C) South-West
(D) MNorth-West

Selact the missing number from the
given responses :

=] 12 15 13
18 24 30 26
36 ? 60 82
(A) 36
(B) 48
(C) 72

(D) Mone of these

Select the missing number from the
given responses :

5 4 3 6
: 7 2 3
3 2 4 2
30 5 24 9
(A 1 (B) 22
(C) 30 (D) 36
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21,

24,

@ m 3= v 3 P % e wm-m
Syl s B T
1. 9F9

2. Teg

3. e

4, HREAM

5. TEETE
(A) 4,8,1,25
(B) 2,3,54,1
() 3,5.1.4.2
(D) 1,3,2,4,5

U 52 T I PARENT =1 T 2
BDFGUK 37 CHILDREN =i
MOXQURG e sman e | Se g2 1
REPRINT &1 & fewan s 7

(A} FGBFXGD

(B) BGBFXJK

(C) FGBUXJK

(D) FGBFXJK

e Tam <t veae 30 o FEE 2
5t T & e & 3Tckel WS A |
Fnwm EEEd T AmE 7

(A) T HTE
(B) wH
(C) &=
(D) =M

el = waw 1 v Ve A | 9 e
# ol =i =m 9 a8 w5 A
Far st
(A} 19
{C) 18

(B) 20
(o) 21

£b.

26,

27

28.
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Tt 7 Ienl o | endar S & S

Eifam

81,100, 121, 144,169, .. 7...225
(A) 300 (B) 325
(C) 350 (D} 196

aeran uigem o v 6 B, wR S
B, ael @ 4 T, wflgo &t 29w, 991 @
10 T o1, g R Has el § | sl
Fre s g w - B g 8 7

(A) i
(B) -
(C) EiEgr-vfrEm
(D) Fei-ufrEn

o o awd O | wngEn gE 5 9
ifa ;

g 12 15 13

18 24 30 2f

36 2 60 52

(A) 38

(B) 48

c) 72

(D) e & e el

B I 0B wE g =
e

5 4 J G
2 3
3 -
30 56 24 7
Al M {B) 22
(C) 30 (D) 36
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28, U7+5=21and4+9=31, whatis
B+6=7
(A} 14 (BY 41
({C) 86 (D) 48
30. If1"—" stands for "+, '+" stands for "',
'+ stands for' ="' and 'x' stands for
'+", which one of the following Is
corract 7
(A) 6x12=3:4+2=-2
(B) 6x12—-3:44+2=86
(C) Ex12-3:442=2
(D) 6x12-3:+44+2=8
31. It CANDLES can be writlten as
1%3455?, how can ASCEND bea
written in that code 7
[A), 271634 (B) 726143
{C) 726134 (D) 276134
32. Which one is not like the other three 7
(A) Goldsmith (B} Tailor
(C) Blacksmith (D) Sailor
33. Person:Poople::Child:___
(A} Pupil (B) Children
(C) Connect (D) Cry
34. Deeplka Pallikal : Squash : ;
Salna Nehwal :
{A) Tennis (B} Chess
(C) Badminton () Boxing
35. Choose the one which is not like the
other threa 7
(A) Maharashtra (B) Bihar
(C) Chennai (D) Rajasthan
A=+ “10-

37.

38.

40,

0 0 I IR

Which one cannat be formed from the
letters of the word "FPARAPHERMNALIA™ 7

(A) RENAL (B) PRAISE
(C) PENAL (D) HERMIA
‘Yes' is related to 'No' in the same
way as 'Alive’ is related fo

(A) Dead (B) Life

(C) Live (D)  Funeral
A, B, C, D, E are sitting in a circle
facing its centre. ‘C’ is to the right of
‘Al and to the left of 'E’. ‘B’ is between
‘E'and "D, ‘A’ is o the immediate
right of ‘D', Who are adjacent to ‘A’ 7
(A) CandE (B) EandB
(C) CandD (D) BandD
MNaveen is laller than Mohan, but

shoder than Suresh who s shorter
than Joseph. Preetham is the tallest.
i they stand in a row according to
their increasing height, who will be in
the middie 7

{A)
(8)
(C)
(D)
Which will come in the place of the

question mark (7} in the following
number series 7

Mavean
Surash
Joseph
MNone of thase

3,6,18,72, 360, (?)
(A)
(B)
(C)
(D)

2160
1800
2520
1440




{0 D00 A 0 00
55. A 7e5=021 M 44+9=318,

B+E="7
(A) 14 (B) #1
(C) 86 (D) 48

30, afd ' o wEEE -8, xR e
WR - EI R R
e WA, Fedamnede f
(A) Bx12-3:442=-2
(B) Bx12-3:4+2=6
(C) Bx12-3:4+2=2
(D) 6x12-3+442=8

91, afs CANDLES 1 1234567 femn =ma
% 1 38 $2 31 ASCEND 1 F4 femn

som? A
(A) 271634 (B) 726143
(C) 726134 (D) 276134
az. wF AR AR H e R 7
(A) W (B) ==l
(C) TR (D) =
33. i e 1 i
Ay BH (B) #=d
(C) == (D) T
34. aﬁﬁmm-—-:ﬂw:mh::
T HEaT
() ehm (B) FTE
(C) HEhies (D) ek
(A) WETIE By fEn
(C) o= (D) TrrEE

38,

JDD-24/PGT-HINDI/X-14
“PARAPHERMALIA" 7752 & 3 11 &

Fra g a 0 =l s s a7

(4) REMNAL (B) PRAISE n
(C) PENAL (D) HERNIA

v 48 ' 4 e # 3 v
e R gwEEe

(A} WEH (B) Hf=e

(C) = (D) F=ETEN

A, B, C, D, E TR, e %73 ®
sfimE ¥z d o A F ool s
3 B % el @w ) B e Dt w T
B RI'DF P e ad A da e
A gEEzERE T
(A} C3WE

(C) C3ED

(B} EslnB
(D) B3RD

st wies @ den B, o g N
S T |y we S ¥l
F ot Al S @ Fow § w2 A
at, == # e e

(&) TR

(B) g

(C) ST

(D) FH A= A

Fore s wjen 1w T () o e
T 3 7

3.6, 18, 72, 360, (7)

(A) 2180

(B) 1800

(C) 2520

(D) 1440
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41.

N 0 O N 0

iil) Arithmetical and Numerical Ability

The length and breadih of a reclangle
are 12cm and 5 em respectively. The
iength of its diagonal is

(A) 15 em (B)
(C) 13cm (D)

14 em
12.5em

The average age of a woman and har
daughtar is 19 years. The ralio of thelr
ages is 16 | 3 respectively. What is

the daughter's age 7
{A) B years {B) Gyears
(C) 32years (0) 3 vyears

The owner of an electronic store
charges his customer 11% more than
the cost price. Il a cusiomer paid
11,33 200 foran LED T, V., then what
was Lhe original price (cosl price) of
the T.V. 7

(A) 71,20,000
{C) %1,22500

(B)
(D)

The cost of 4 calculators and 2 slencils
Is ¥ 6.200. What is the cost of
10 calculators and 5 stencils 7

(A) T14,875 (B) 215,000
(C) %15,250 (D) 15,500

What will come in place of both the
quasticn marks (7) in the following
question 7

B) 12
ey 7

71,114,500
1,118,000

4.

47.

48.

49,

12 men alone can complete a piece
of work in 6 days, where as 10 mer
and 21 woman together take 3 day:
o complete the same piece of work
In how many days can 12 womer
alone complele this piece of work ?

(A 11 (B) 9
(C) 10 (0} 8

Kiran sold an item for ¥ 4,510 ant
incurred a loss of 45%. At what price
shouid he fave sold that item 1o have
gained a profit of 45% 7

(A) ¥11.890

(B) T12.620

(C} 10,800

(D) Mone of thesa

< T 4 a8

i el |
" i el e et e
ﬁmfranhansﬁ 3'8'D am:iﬁare

arranged in descending order of thei
values, which one will be the third 7

3 F 4
= ®
5 8
© 3 ©

P:Q=5:80:R=3:4PF:0:R="

(A) 5:6:4 (BY 5:6:8
(C) 8:5:4 (D) 6:5:8B
Calculate the compound interest fo
* 20,000 at 10% for 2 years,

(A) ¥ 4,000 (B) %4500
(C) ¥4.200 (D) T4,100
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1.

42,

45.

T HEA # T AW deE #0:
ted . st s | Bl emard
(A) 1585, (B) 144,

(C) 13H# ) 1254,

o leen ot 30 48 ) ofvma 3w
197 3 | 36 I SAIE T
16:3d TR F e 7

(A) o= @ e
(C) 324 (0) a=d

U eI e il T 3 e
1 S - A 11% =i | Gl

mhﬁﬁmﬁlﬂﬂﬁiﬁqﬁ
e T 1,33,200 F1 TR 1§ 91 34
St o e i (- i) w7
(A) 11.20,000 (B) T1,14,500
(C) ¥1,.22500 (D) ¥1,.18,000

4 FErRpEat SR 2 TiEE w1
76,200 | 10 HEariel 30 5
wimwm T |

(A) T14875
(C) ¥T15250

(B) T 15000
(D) 15,500

e s o 21w o (1) s
=1 3y ¢

8 : {7}1 ]
(A} 14

{C) 6

B) 12

46,

47.

49,

50.
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el 12 e o w6 Tt 1 s
&, wrafeh 10 amed afr 21 afied foeae
FEIFmEI AT T 1 wmEm a5l
12 gfeemd e B qo=fi ¢

(A) 11 {B) 9
(C) 10 (D) B

o e g T 4,510 W A B 3
45% FHIURTEMI & | 30 45%
ﬁaﬁaﬁqaﬁﬁﬁﬁﬁﬁﬁcgﬂ?

(A} T11,8%90
{(B) 12,620
(C) T 10,900

(D) ¥ HHE A

& HEE F9 8 gaE 6 8 o A
REsREm 7

(A) (B)

m|th dnLd
|m D |-

(C) (D)

—
e

M P:Q=5:60:R=3:4,%,
P:Q:R="? .
(A} 5:6:4 B) 5:6:8
(C) B:5:4 (D) 6:5:8
¥ 20,000 2 71 %1 10% 95918 =01
o1 o= wEd |

(A} T 4,000 (B) 74,500

(C) ¥4.200 (D) T4,100
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51.

52.

53

a (B)

A malrix which has an equal numbear
of rows and columns is called

(A)
(B)
(C)
(2

row matrix
column matrlx
square matrix
rectangular matrix

Twa circles with diameters 8 cm and
& cm touch each other internally.
Then, the distance between their
centres is
{A) 14em
(C) 4em

(BY 2cm

(D) 1cm

The angle in a semi circle is
(A} a nght angle

an acute angle

an cbluse angle

nona of these

(<)
(B)

The capacity and the radius of the
base of a right circular vessel are
9856 cm? and 14 cm respectively.

The height of this conical vessal is
(A 24 cm

(B) 48cm

{C) 28Bcm

(D) 7em

A metallic sphere of radius 10.5 cm
15 melted and then recasl into small
cones of capacity 38.5 ¢.c. each. Find
the number of cones thus formed.

216
162
126
621

(A)
(B)
(<)
()

&57.

&0.

In & circle a chord of length 16 em &
drawn at a distance of 6 cm from it
centre. The radius of this circle Is

(A) 10cm (B} 20cm
(C) 8cm (0} Gcm

Three identical coins are losset
togethar. Whal is the p:lnru:!lztat:llJlljg,nI G
obtaining all heads 7

3

(A) (B)

o= ma|—=

8
1
© (©)

Ajay owns 560 shares of a company
The face value of each share is T 25
The company declares a dividend o
9%. Calculate the amount of dividenc
that Ajay will get.

(A) T2160

(B) ¥1,280

(C) 71,820

(D) ¥1,026

At what rate of interest, simple interesi
on ¥ 5,000 for 2 years is T 1,250 7
(A) 12%

(B) 15%

(C) 25%

(D) 12.5%

The angles of a triangle are in the ratio
3 : 4 : 5. The magnitude of the smalles!
angte of this triangle is

(A) 457
(C) 30°

(B) 60°
(D) 40°
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5

HaR il SR ey T dfe =
Fgit

8 #.4, oir 6 9, . =EEE @ ada
HIUH =1 = H w0 = E |3

=1 37T BT

(A} 1441, (B) 2.4,
(C) 44,4, (D) 1.,
w g A SRR

(A) wRHm

(B) =
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82,

83,

85,

A

v) Test of Language : English
T TR ¢ ST
a7,

“she has been singing.” - The lense
of the verb of this sentence is

{A) Present continuous

{B) Presentperfect

(C) Present perfect continuous
(D) Present indefinite

Past participle of fall’ s
(A} fell (B) falling
(C) flaw (D) fallen

“The teacher punished him". This
sentence is sald tobe in

(M the active voice

(B) the passive voice

(C) the active and passive voice
(D) none of thesa

Coemparative degres of ‘Good’ s
(A) God

(B} Better

(C) Best

(D)} MNone of thaso

Sentence having only one principal
clause and no subordinate clauss is
called

(A) compound sentence
(B) complex sentence
(C) simple santencea

(D) none of thesa

He sald, "l am well", In the indirect
speech, this will be

(Al He said that | am well
(B) He said that he is well
(C) He said that he was well
(D} He said that | was well

88,

H

80.

1
L

“What a sensible boy ha is 1" - Whai
type of sentence is this ?

(A) Exclamatory sentence
(B] Megative sentence
(C) Intarrogative sentence
{D) Positive sentence

Rhyming ward for "COOL" is
(A} Paoll (BY Pool
(C) Bowl (D) Foul

“Camel is like a ship of the desert"
The figure of speech which we find in
the above senfence is

(A) Melaphor

(B) Simile

(C} Personification
(D) Mone of these

“He Is a boy". — In this sentence, "is”
is a‘an

(A} noun
(C) adverb

{B) werb
() adjective

Directions (Qs. 81 w 93) : Aead each
sentence fo find out whether there is any ermor
in it. The arror, if any, will be in cnepart of
the sentence. The number of that part is the
answer. |f there is no error, answar is (D),

91.

g2.

He could succeed (A)/ in catching the
ball (B)/ before it reaches the
boundary line.(C) / No error (D)

He ought (A} not have done (BY such
a filthy thing.(C)/ No error (D)

Motivaling employees with (A)/
traditional authority and financial
incentives (B)/ have become’

increasingly difficult.(C) No error (D)




D B

84. Choose the word which is most
opposite In meaning of the word
"Resistance”

(A) Appliance
(B) Repulsicn
(C) Oppasition
(0y Compliance

95. Choose the word which is most nearty
the same in meaning of the word

*Himt®
(A) Clue (B) Hide
(C) Hate (D) Create

g98. Fill in the blank with the most
appropriate alternative given below.
| prafer milk coffes.

(A) than

(B) to b
(C) for

(D} none of thesa

Directions (Qs. 97 1o 100) : Read tha
following passage carefully to answer these
questions based on whal is stated or implied
therain.

Reality television is a genre of television
programming which, it is claimed, presenis
unseripted dramalic or humorous situations,
documents, actual events, and featuras
ordinary people rather than professional
actors. Although the genre has existed in
some lorm or another since the early years
of television, the current explosion of
popularity dates from around 2000, Par of
reality television's appeal Is due 10 its ability
to place ordinary people in extracrdinary
situations. Reality television also has the
potential to turn its participants into national

As

JDD-24/PGT-HINDIX-14

cealabrities, in talent and performance
programmes such as “Pop |dd”, though
trequently "survivar' and ‘Big Brather'
participants also reach some degree ol
celebrily, Some commeniators have said that
the name “reality elevision” is an inaccurate
description for several styles of programmes
includead in the genrea.

g97. In the first sentence, the writer says,
“it is claimed® because

{A) he agrees with the statement
(B) he is in favour of the statement

{(C) some people insist on the
statermant

(D) some people oppose the
staternant

88, Reality TV appeals to some because it
(A} shows average peopla in
exceptional clrcumstances

(B) shows eligible males dating
WoHTEn

{C) shows vulgar scenes
(D) uses exotic locations

89. The participants in the reality shows are
(A) Professional actors
(B} Politicians
(C) Ordinary people
(D) Extraordinary people

100. Reality television

(A) has been popular since the start
of 1elavision

(B) was there long betore 2000
(C) iz not popular now

(D) has been popular approximatealy
since 2000

A8
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IMPORTANT INSTRUCTIONS TO CANDIDATES -

Feftaandt & fom oewget srgEm

11, This: bookiet comiaing 32 pages: 1. m‘ﬂfﬁ‘lﬁl'ﬁﬂiaﬁi |
12, Pieasa check all the pages of the Booklet '
carefully, In case of any defect, please ask 12. s geiH e Fam e | af

the Invigilator for replacemant of the Booklst, w3 2y &, 1 Flteen = 28 wmed s Pnwd |

Direclions : Each guesfion or incomplete 1 . ek Y
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